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Topic:- Physics

1) The energy stored in a coil of self-inductors of 50 mH, carrying a steady current of 2A is:
/

2A #1 Jrafaet amT iR # arel, 50 mH F-9RE arelt o Fselt 7 Fada 7ot 8
1.1]

2.107

3.5]

4.0.1J

Correct Answer :-

2) A motor car is moving with a speed of 20m/s on a circular track of radius100m. If its

tangential acceleration is 3m/s?, its resultant acceleration is : /

T AT FR, 100 HeX A BT a9 v FeadR 97 W 20 HAW/AFs A G &
gz W@ 81 IR sEFT TR cvor, 3 AeAF2 § @ aRomHE & wor e

1. 4 m/s?
2.3.5m/s?
3.5 m/s?

4.3 m/s2



Correct Answer :-

3) The maximum and minimum magnitudes of the resultant of two given vectors are 17 and
7 units respectively. If these two vectors are at right angles to each other, the magnitude of
their resultant is: /

ar Rw v dFedt & oo & srfwan 3 sgaae aiEror Fae: 17 3K 7 sFrEaAtr
g1 I A A& IF vHF-gWY F FASIOT W §, @ 3% gRomA FT IRATOT B B

1. 16
2. 14
3.12

4. 13

Correct Answer :-

4) The Kkinetic energy of a body becomes four times its initial value. The new momentum will
be:/

% faw 1 afasr S, 58 RPN A § IR AT &Y AT T AAT FIAA g
1. Half of its initial value / 8% URIH HIeT I 3TET

2. Same as the initial value / IRfR$ AT & AT

3. Four times the initial value / YRfe HleT &I IR I[AT

4. Twice of its the initial value / 38 YRTH AT T & AT

Correct Answer :-

« Twice of its the initial value / & TRTHH HTeT T €T I[AT

5) The Young’s modulus of the material of a wire is 2 x 101°N/m?. If the elongation strain is

1%, then the energy stored in the wire per unit volume in J/m3 is 2/

T dR Y G T J97 A9iw 2 x 1010N/m2 #) afe wg1 gam & (w¢) 1% garI/m3 Fufx
SHIS ATIAA dR & FIRd FaT Ae §:

1.10°

2. 108



3.2x108
4.0.5x 10°

Correct Answer :-

. 100

6) The torque acting on a body is the rotational analogue of : /
T fAFTT 9T ST ATt Serrgot &1 gUif ToATelter g1

1. Mass of the body / f/ehTT T geIHTT

2. Linear kinetic energy of the body / ferr #r Y@ aifast
3. Linear velocity of the body / fa/err &1 & aer

4. Force in linear motion / Y& a1fq & sof

Correct Answer :-

« Force in linear motion / Y@ 31fd H ol

7) The initial and final temperatures of water bath are (18 £ 0.5) °C and (40 + 0.3) °C
respectively. What is the rise in temperature of bath? /

ST &I & URIAS 3R 3T AT FAT: (18 £ 0.5) °C 3T (40 +0.3) °C & T &
arHe # giy 4T 82

1.(58+£0.2)°C
2. (58 +£0.5)°C
3.(22+£0.2)°C
4,(22+0.8)°C
Correct Answer :-

.« (22£0.8)°C

8) The dimensions of rigidity modulus are: /
TEdT ATUH & AAH §:

1. MLIT2

2. M'L2T12

3. MILOT-2



4. MIL2T2
Correct Answer :-
e« MLIT?

9) The area under force-time graph gives: /
TI-HAT ATH & IHdd &7 &1 8

1. Impulse / 37397

2. Momentum / §d9T

3. Momentum / §a3T

4. Displacement / fa&aTa=T

Correct Answer :-

« Impulse / 3TaIT

10) A plate has a length 5 + 0.1 cm and breadth 2 + 0.01cm. Then the area of the plate is: /
TF Colc Y oFa1g 5 + 0.1 AL, 31y =i 2 + 0.01 @Y. § a e F7 v AT gem:
1. (10 + 0.025)cm?

2. (10 + 0.01)cm?

3. (10 + 0.25)cm?

4.(10 + 0.1)cm?

Correct Answer :-

e (10 +0.25)cm?

11) A radioactive nucleus emits a beta particle. The parent and daughter nuclei are: /

o IEFAH i v dfier For 3T Far 1 F9F (RWe) 3R gafa (@3R)
s &

1. Isotopes /| THATATAH (3TSTICTH)
2. isomers /| HHATGAT (TSEAY)

3. Isotones /| HHAICIo1eh (SHICIH)
4. Isobars /| GHIR (3TSAE)



Correct Answer :-

+ Isobars / THIR® (3T5AER)

12) If C is the capacitance and V is the potential of a capacitor, the dimensional formula for
% CV2is: |

afg v wula i aiiar c ik Rsg v & &t % cv? & smaeh §7 &
1. ML2T2

2. ML2T"!

3. ML2T2A"!

4. ML2T2

Correct Answer :-

« ML2T?

13) In the case of insulators, as the temperature decreases resistivity .
fegaeht (Fgeey) & aAmrd A, S-S arvee Fa @var 8, v |
1. decreases / &H @I ATl g

2. remains constant / fEX TET §

3. become zero / [T g ST §

4. increases / 9¢al &

Correct Answer :-

« increases / §&ar %’

14) Electromagnetic waves can be produced by: /

fegagradir awert # gaNT 3cuifed foham S @t g
1. An accelerating electric charge / Teh caRd ﬁ?\?fl:?f 3Taer

2. Any vibrating body / @18 Hiad e

3. A stationery electric charge / T &R ﬁ?\:{?lff 3Taer

4. A magnet at rest / fISTATEAT H Uk doh

Correct Answer :-



« An accelerating electric charge / Teh caRd ﬁ?\:{]’?{ 3Taer

15) When the angle of incidence on the surface of a transparent material is 60°, the reflected
light is completely polarized. The velocity of the refracted ray inside the material is: /

o frdt aReeff vard i waw W 3raas Fior 60° gar §, @ Wafdd ywnRr @ @@
¥ ydfiFa g aar 1 ge F s srqafda frvor @ e &

1.3/2 x 108 m/s
2.3x 108 m/s
3.V3 x 108 m/s
4.0.5x 108 m/s

Correct Answer :-

e V3x 108 m/s

16) A car of mass 1000 kg is accelerated uniformly from rest to a velocity of 54 km/h in 5s.
The average power of the engine during this period in watts is : (neglect friction)/

1000 fFIT gegATT Y Th &R H 5 UHhs A 54 FdAl/Ee F 31 § (A F tvgA=T
™ ¥ cafa fFar sar §1 59 3™ & SRt gaa Y sitwa afFq ae & & (ador fy
3981 )

1. 1000
2. 9000
3.2250
4.22500

Correct Answer :-

« 22500

17) A thin wire of length 0.25m and mass 4 milligram remains suspended in air between the
pole pieces of magnet. If the wire is carrying a current 0.4 A and is making an angle 900 with

the magnetic field then, the strength of magnetic field is: (take g = 10m/s2) /

gad & gdT ¢Hsl & fiT gar ¥ 0.25 A @5 3R 4 e gegwmer aren o
qdell R AeH Tgal ¢1 IfE aR 0.4 A HY 4RT FT gga7 FT bl ¢ IR ahrr &=

F @ For 900 ¥ T@T ¥, A gahw a7 A A4fFT ¥ (g = 10 A2 F)

1.4x10% tesla / 4x 104 T



2.4x 10 tesla / 4x 107 TET

3.4x 100 tesla / 4x 100 CEaT

4.4x 103 tesla / 4x 10> &l
Correct Answer :-

e 4x10%tesla / 4x 104 exar

18) A particle is dropped from a height ‘H’. The de-Broglie wavelength of the particle is
proportional to: /

916 W’ ¥ TF FOT R A1 §1 9 1 N-aerel aWded s9F AAaF 8
1.H'1/2
2. H?

3. H1/2

4 H

Correct Answer :-
. H12

19) A black body has maximum wavelength ‘A’ at 2000K. Its corresponding wave length at
3000K will be: /

TF Fre AHT FT 2000K W HAFAH arced 0 1T 81 3000K T FHF 3T
areed gl

1. 203
2.30\/2
3. 81/16A

4. 16/81A

Correct Answer :-
e 2)\/3

20) The relation between the time of flight 'Tf of a projectile and the time of reach the
momentum height ‘t,,"is: /

U 98TCd & 33 FAY 'TF 3R HAT S 05 Tg9 F TAD 'ty F 419 F1 FU§:



1. Te=ty /2

2. Te=ty /2

3. Tg= 2ty

4.Tf =ty
Correct Answer :-
o Tp=2t,

21) CANCELLED

A wheel has moment of inertia 5 x 10~3 kg m?2 and is making 20 revolutions per second. The
magnitude of torque needed to stop it in 10s is:/

UF gl 1 FAScargur 5 x 1073 kg m? ¥ 3K 77 uf A% 20 TREFAT FaT §1 10 W3 F 3@ WA 8
ITRIF FeTeor FHT IRHATOT A ¢:

1.47x 102 Nm
2.4 x 102 Nm
3.457nx 102 Nm
4.457x 102 Nm
5.271x 102 Nm
6.2x 102 Nm
7.2.5nx 102 Nm

Correct Answer :-

e 2mx 102 Nm

¢ 2mx 102 Nm

22) If the phase difference between two sound waves of wavelength ‘A’ each is 60°, then the
corresponding path difference is :/

TRAF L T e i @ eafy at F fiT Feiaw 60°F, A dETER TUiwR ¥
1.W2
2. W6
3. W/4

4. 6/A



Correct Answer :-

. M6

23) If a body oscillates with an angular frequency ‘o’ by a constant driving force, then the
oscillations are called ./

a7 v e faer e oo (i $1) F garT FIoiT ngfed ‘o’ & J1 atele T 8, af et
E0) FeT AT 8l

1. damped oscillations / 3dHTwGd Gloldd
2. free oscillations / TaT Glefel
3. coupled oscillations / ?fla'ﬁﬂ?f grelet

4. forced oscillations / sl H‘\ccl % Gloled

Correct Answer :-

« forced oscillations / del t-Ic\ccl % alolsd

24) Two capacitors, 4uF and 6pF, connected in parallel are charged by a 100V battery. The
energy stored in the capacitor is: /

FAWR # 3 4pF AR 6pF arer ) FenR=ct #t va 100V def garr smafa fmar
ST &1 guiRa & Fada FeT &

1.5.0x 102 ]

2.12x102]

3.127
4.24x1072]

Correct Answer :-

¢ 5.0x1027J

25)  The equivalent resistance between points A and D of the network shown in figure is: /

o & e 71w dead & faglt AR D& dier aAged uia &

100 200

A, POPA LI R, <
%mn

o 400 E 800 F

1. 50Q



2. 83.33Q
3. 140Q

4. 63.33Q

Correct Answer :-

« 83.33Q

26) When number of turns per unit length of a solenoid is doubled, its self inductance becomes:

/

99 TF gRenfad 1 9fq sHE dar$ F gAEl A GEqr Qe 8 STl B, @Y sHaT -
Wor AFT g Frar §:

1.4 times/ 4 ?EFIT
2.8 times / 8 e

3. Same / HHTA
4. Doubled / GII[&AT

Correct Answer :-

o 4times/ 4 AT

27) When a body is taken from the poles to the equator on the earth, its weight: /

o frdt Rz F gt o gal @ qHEeT W@ aF & TR AT g, A SHHT qo:

1. Increases / Sedl %’I

o

2. Increases at south pole decreases at north pole / A %H T dadl %, 3ccdl ig_d QI gcdr

gl

3. Decreases / d &l ST &1

4, Remain the same / §HTA {gdl %’I

Correct Answer :-
« Decreases / hH & STdT &1

28) When the inputs of the two input logic gate are 0 and 0, the output is 1. When the inputs are
1 and 0, the output is 0. The logic gate usedis: /

o9 &Y gAY difa AT F FAYC 0AR 0 @ &, Y 3T 1 @ ¥ S99 sAYe 1 3K
0 8T &, ar 3r3eqe 0 giar §1 WIFd difars e &

1. NOR gate / NOR 3



2. NAND gate / NAND e
3. OR gate / OR 9

4. AND gate / AND 31

Correct Answer :-

« NOR gate / NOR 3

29) The value of acceleration due to gravity on the surface of earth is 9.8m/s2. 'R’ is the radius
of earth. The value of acceleration due to gravity at a high ‘R’ and at a depth 'R’ from the surface
of the earth respectively are:/

gedl Y Ag W Toed F HROT calol F AW, 9.8m/s> 81 ‘R’ gt #r Brsar g1 geet
T FAg ¥ 3T ‘R’ W Thed & FHROT calol F A AR MEAE R’ 9 @07 HT AT
FAA: T

1.2.45 m/s%, 9.8 m/s?
2.2.45 m/sz, Z€ero

3. Zero, 9.8 m/s?

4. Zero, 4.9 m/s?
Correct Answer :-

o« 245 m/sz, Z€ero

30) The angle of minimum deviation for an equilateral prism of refractive index 1.414 is: /

HUaAaF FAFF 1.414 G T TS Fow F v wgeras fwas w1 Fior 8

1. 60°

2. 15°
3.45°

4. 30°

Correct Answer :-

e 30°

Topic:- Chemistry

1) Which among the following is NOT a disaccharide? /

ffaf@d & @ Fia wF sEdwEs a8 2



1. Lactose / G HTT (oleFeTH)
2. Maltose / TG T (HATICIH)
3. Sucrose / $&] AT (bl

4. Dextrose / GT&T QAT (SFELIA)

Correct Answer :-

« Dextrose / GT&T AT (SFECIH)

2) The energy of an electron in a hydrogen atom in the ground state is 13.6 eV. Which one of
the following represents the energy in the first excited state? /

fesTasr Iravur & T FEHST WA F TF gagci A FAT 13.6ev ¢l fAefaf@a
HA q ol Y97 3cafaa sgear & Far1 &1 yfafafcg sar &2

1.-13.6eV
2.-6.8eV
3.-34eV
4. +6.8 eV

Correct Answer :-

e -34eV

3) Which of the following structural changes will NOT affect van’t Hoff factor of a dilute
solution? /

farafaf@a & & Fla-a1 wwarws: Rada & dqFa Bega & awe §% Jons F
yerfad A€t HIem?

1. Association of solute particles in the solution / [deraeT # 3o Hull &1 TaIfATAT
2. Isomerization of solute / AT T JATGIATRHIOT

3. Micellization of solute / Tl T fAARIOT

4. Dissociation of solute particles / fdelTr &UTl &1 fage

Correct Answer :-

« Isomerization of solute / Tl &l TATIIGIHIOT

4) The conjugate base of hydrazoic acid is: /

EISISISH T FT WIIH &TRF ¢



1. Ny

2.N73
3. N5
4. HNy

Correct Answer :-

5) The loss of one neutron is equivalent to: /
T S A R & Waged g B
1. Increase of one proton / Teh Wefel &I aji'

2. None of these / 39UFd H & Eﬁlé’ FI@'

3. Both loss of one g-particle and increase of one proton / T g - 0T T gl 3R T
stei $r afy et

4. Loss of one g-particle / T g - &0T & gIfad

Correct Answer :-

« Loss of one g-particle / T g - &0T & gl

6) The rate constant for a first order reaction is 60 per second. How much time will it take to

reduce the initial concentration of the reactant to it 1/16'" value? /

yad e 3fAfFA F AT T Buw* 60 fd dFs 21 3fAFRF A IRAF Figar
TqF 1/163 AT aF Uer F FhaeT GHT A

1. 7x1072s
2.4.6x1072s
3.8.6 x102s

4,5x1073s

Correct Answer :-

e 4.6x1072s

7) What is the total number of tetrahedral voids in FCC structure?/

THHIE! AT A Tqhah RiFaat f For d@qr =41 2



1.4
2.8
3.6

4. 12

Correct Answer :-

8) What is the equivalent mass of an oxidising agent, KMnQy, in a strongly alkaline

medium? /

A & ATEIH H U HFHFOT FRE, KMnO,y, FT FHeT FSIATT FIT 82
1.52.67

2.39.5

3. 158

4.31.6

Correct Answer :-

- 158

9) What is the formal charge on chlorine in perchloric acid? /

WFAIRE HFT A Fald W AIATASS 3 (PrAe H1der) F47 82
1.-1

2. +1

3. +2

4. +3

Correct Answer :-

10) What is the concentration of OH "L in 0.1 M solution of NH4OH having Kb =2 x10~ 52/
Kb = 2 x10~ 5 arer NH4OH ¥ 0.1 M faerasT & OH "1 &Y Higar #ar 82

1.2.68 x 10 =3 molL!



2.2.68 x 10° molL!
3.1.41x 10 3 molL!
4.1.41x 103 molL!

Correct Answer :-

e 1.41x10 3 molL"!

11) Sulphur hexafluoride exhibits hybridization and has shape.
/
P RFAFANSS __ HHOT MERIT ST § ARNGHF R g B

1. dsp2 , square planar / dspz; T gHTNT

2. sp3d2 , octahedral / sp3d2; ASCHADIT

3. d%sp3, octahedral / d2sp3; 3TSchelhIT

4. sp3d , trigonal bipyramidal / sp3d; FsIoiT gfafxifas

Correct Answer :-

« sp>d?, octahedral / sp3d?; 3TSCHoThIT

12) A radioactive element gets spilled over the floor of a room. Its half-life period is 30 days.
If the initial concentration is 10 times the permissible value, then after how many days will it
be safe to enter the room? /

w BNEHT a@ @ F F v W B rar 71 @ sy w1 30 e 7 AR
YRIAE WEdT FqAT AT HT 10 AT &, aF Fraa Rl weara Fa3 & yaer Far
qfEra gem?

1. 300 days / 300 f&eT

2. 100 days / 100 fe=T

3. 1000 days / 1000 fe=T
4,10 days / 10 et

Correct Answer :-

« 100 days / 100 T&eT

13) A given vitamin “X” is called an “Appetite vitamin”. It is water soluble and helps in
carbohydrate metabolism. Its deficiency causes Beri-beri. What is its chemical name? /



fret e av Rafds "X # & " i Rafas a1 were Raf@a s o &1 38
ot & gererelier @ar § 3R Frefeede & gUgwy § Ay w1 ¥ FEA FAY -9
HT HROT dAdl &1 SHAT IS ATH 4T &2

1. Cyanocobalamin / Tl lTHIT
2. Thiamine / U IR

3. Pyridoxine / GrIISTeFETeT

4. Riboflavin / RaTFeifdst

Correct Answer :-

o Thiamine / ATATHA

14) NaCl crystals appear yellow due to: /

NaCl fF¥edr _____ & #Ror fia @1 & @ & &
1. Schottky defect / Qe ey

2. F-centres / F — TeH (TH-hal)

3. Frenkel defect / Shchel &I

4. Interstitials / 3Tea Tl

Correct Answer :-

« F-centres /F — HeH (Th-hg)

15) Identify the compound in which sulphur does NOT obey the Octet rule. /
39 i Y ygareT w1 OWH gewy, 3iiFee fAad #1 gra A HIaT ¢l

1. H,S
2. SF,
3. SF,

4. 50,

Correct Answer :-

16) Equimolar solutions of different non-volatile and non-ionic solutes in the same solvent
have: /



A s # [Affie amaefia st damafas Rt & gaaeiy EFdaer)
Reaes & ga &

1. Different boiling and different freezing point / [FesT FaUATh IR Bt AR

2. Same boiling point but different freezing point / THTT FAUATHR olfched fHeet AR

3. Same boiling point and same freezing point / FHTA FaUeAieh iR THA GaATH

4. Same freezing point but different boiling point / T §HTR oifchet fReeT Fa=tn

Correct Answer :-

« Same boiling point and same freezing point / THIT FaUITeh IR TAWT B

17) Which one of the following d orbitals has a different shape but degenerate with the rest
of the d orbitals? /

A @a # ¥ 5T d FaTF (ITTacd) FT TF HAT SN dT § Afhed a1hT d
FETH F WY HIFSE (SSeRe) 82

1.d,

2. de
3. dxz- y2
4.d,?

Correct Answer :-

18) Which among the following is an appropriate reagent which is use to convert 1-
phenylpropane to benzoic acid? /

fmafaf@a & & sugea afwis Fa-ar § OO 1-rageaits # & 3w &
qfafda # & v 3udier fFar sar @2

1. KMnO,/OH"

2. Conc. H,SO4 / ©Teg H,SOy

3. Pyridinium chlorochromate / tl'lgﬁ'%ﬁﬂ?m' FaRIPIHAT
4. Alcoholic KOH / 3feehlgfeleh KOH

Correct Answer :-

« KMnO,/OH"



19) Which among the following statements is CORRECT about [Cu (NH3)4]SO4? /
frfaf@a & & Fla-91 FYT [Cu (NH),4|SO4F TR & & &2
1. The bond between Cu and NH3 is covalent. /

Cu 3R NH; & &I 978 GgadeTH 8l gl
2. It is a paramagnetic complex. /

Ig HTFEaehId Hepel AT WHTAESH HlFTelad g
3. On ionization, the complex gives copper ions. /

IRIAERUT W, HIFTAFH HIAT & AT ST &

4, It has negative ligand. /
SN RHUNcHS fodivs g &1
Correct Answer :-

« It is a paramagnetic complex. /

Ig TgFehIg Hehol AT WAl Frgaad gl

20) Which of the following will be the most effective in the coagulation of Al (OH); sol? /
Al (OH); Ree & Thea # Amafaf@a & @ #la gea 30« g gem

1. BaCl,

2. Mgz (POy4)y

3. KCN

4. NaCl

Correct Answer :-

« Mg3 (POy);

21) Which of the following substances is weakly attracted in the magnetic field? /

fafaf@a #& ¥ Fi9-a1 o ged a7 § gdaar ¥ Jwia aar §2
l.CI'02
2.H20



4, 02

Correct Answer :-

22) The rate of a reaction doubles when its temperature changes from 300K to 310 K. The
activation energy of such a reaction will be (R=8.314 JK "1 mol1): /

v TATRAT i aX Tt @Y STt § T 3w araAT 300K & 310 K @ uRafeda g smar
21 39 atg Y rfAfHar i afFgor 4T (R=8.314 JK "1 mol™! ) gt

1. 53.6 KImol!
2. 61KJ
3. 58.5 KImol!

4. 48.6 KImoll

Correct Answer :-

e 53.6 KImol!

23) The bond dissociation energy of Hy, Cl; and HCI are 110, 52 and 103 kcal/mol
respectively. The enthalpy of formation of HCI gas will be: /

H, , Cl, 3iX HCI &Y 3maer fagisier ST saer: 110, 52 31T 103 kcal/mol &1 HCI 3 &
faafor Y ot vaT (Tded) et

1. (-) 44 Kcal
2.(-) 11 Kcal
3. () 22Kcal

4. (-) 88 Kcal

Correct Answer :-

. (-)22Kcal

24) If chloroform is left open in air in the presence of sunlight, then it gives: /

IfE FARIGE F FF F yHhrer A suRRYfy F g & gar ok 7y swar & ar 7@ aan
¥

1. Chloromethane / FARIAYA
2. Carbonyl chloride / Taffael FARTSS



3. Mustard gas / #A¥es 39

4. Carbon tetrachloride / I CTIFARISS

Correct Answer :-

« Carbonyl chloride / Fraffael FARTSS

25) K, = K¢ is TRUE for which of the following reactions?/
frrafaf@a #F @ fFa afdfrar F AT K, = K. T 8?

1L.N2(9) + 3Hx9) =2NH3(9)

2.2NOCI(g) = 2NO(g) + Cly(g)
3.H2(9) + Cl(9) = 2HCI(9)
4 Ha(9) + IDfs) = 2HI(g)

Correct Answer :-

« Ha(9) + Cl(g) = 2HCI(9g)

26) Which among the following compounds does NOT give iodoform test? /
farafaf@a aiffst & & sla-ar smaEreE wdaor a3 ar 2

1. Acetophenone / TT&EIThalleT

2. Ethanal / 33Tel

3. Propan-1-ol / 919=-1-31fel

4. Pentan-2-one / Y¢eT -2-311

Correct Answer :-

« Propan-1-ol / 9I9=T-1-3iTel

27) Which among the following statements is INCORRECT regarding Nylon 6,6? /
farfaf@d & @ FI9-9T FUF ATATT 6,6 F el H 3T T2
1. Nylon 6,6 is a condensation polymer. /
A 6,6 Th HEAT Tgoih ¢
2. Nylon 6,6 is tough and abrasion resistant. /

ARl 6,6 ®o 3R gYur-gfared g1

3. Nylon 6,6 is used in the manufacture of carpets, textile fibres, etc. /




ATl 6,6 T 3UART FHleileT, HUsT, I 3¢ F fFATor 7 fovam Jrar B
4. Nylon 6,6 is an elastomer. / ITIlisT 6,6 T YcITET AR &

Correct Answer :-

+ Nylon 6,6 is an elastomer. / ATIAIA 6,6 Teh FcAEAAF & |

28) Calculate the enthalpv of formation of HI in the given reaction:

H: + I. = 2HI AH=2040kcal'mol /
& @15 fAfhar & HI & fo#Tor &7 qot seAr (viled)) &1 aorer #3)

H» + I = 2HI  AH =2040 kcal'mol

1. 20.40 kcal/mol
2. 10.20 kcal/mol
3. (-) 10.20 kcal/mol
4. (-) 20.40 kcal/mol

Correct Answer :-

e 10.20 kcal/mol

29) (Consider the given reaction:

{i) dil ¥2OH
CH ;CHO —— == A
{ii) NaBH,

Identify the product A./

Aafeag 3fERar W B9n &+

(i) dil KaOH

A

CH ,CHO
(ii) NaBH.,

/391G ‘A’ & 9T HIfSTT]

HsC——CH,—CH,—COOH



ch—ﬁ—CHg—CHE—CDDH
2. O

HEC—?H—CHZ—CHZ—GH
3. OH

ch—CHE_CHE——CHO
4,

Correct Answer :-

H3C—?H—CH2—CH2—GH
OH

Find the enthalpv of sublimation ofice from the following data? /
frAferf@d srenst & o & Iedurder & got FvAT (viled) &1 Aa #1?

H:0(1) = H20(g) AH=42.75kImol-!

H:0(s) = H:0(1) AH=6.00kJ mol-!

1. 48.75 kJ mol !

2.36.75 kJ mol ~ !

3. None of these / 3TRIFd #H & HIs gl
4.43.7 kI mol~1

Correct Answer :-

« 48.75kJ mol !

Topic:- Botany

1) Name the genes that are involved in turning off or on, the transcription of a set of genes. /

39 St FT A Ay AN AT F vw T F AcaFT (grufFcae) 1 ag a1 919 T
# nfAer i &1
1. Regulatory genes / & amd@s ST

2. Operator genes / JdTeleh SileT



3. Exons / UFdleT

4. Introns / 3cled

Correct Answer :-

« Regulatory genes/ @am#@® S

2) What should be the most important property of a genetic material?/
AR HTHA FT FOW Ageaqol JOT FAT Pl ATRT?

1. Must have the ability to replicate / Gfcehfcl SeTlel T &THAT gl =BT

2. Must be flexible / & (Feifdgad) gl AT

3. Must be helical / Fsford (@forwer) gl anfew]

4. Must contain purines and pyrimidines / 38H TR 3R ARAR gl @rfgw]

Correct Answer :-

« Must have the ability to replicate / Ufdehfd Sellel I &THAT Bl TR

3) Biodegradable plastic that is produced by Methylobacterium is: /
fRrusaRFaRTT & ganr senfea stlafasdiavor carfees &

1. Polyhydroxybutyrate / ﬁﬁéﬁlﬁ@:&f

2. Polypropylene / GieliIdTSelle

3. Polystyrene / GleiEeTaIel
4. Dextran /| S&FECTeT

Correct Answer :-

« Polyhydroxybutyrate / ﬁ?ﬁ%‘lé;‘ﬁ@:&f

4) cry3A gene encoding protein controls: /
F13 3A ST saARfET N AEha wa &
1. Colorado potato beetle / PIGIRTST 3Te] s
2. Corn rootworm / ®lel FCa1H

3. Corn borer / @isl ST

v ¢
|

4. Cotton bollworms / hicel diel



Correct Answer :-

« Colorado potato beetle / HIIRTS! 3iTe] Cire)

5) The crossing over frequencies between the genes A and B, A and C and B and C are 8%,
15% and 23% respectively. What is the possible sequence of genes on chromosomes? /

e A 3B, AR CcwaB IR C F diw RfwT (FRT ) smgfeaar sae: 8%,
15% 3R 23% B orRGET W S 1 gnfaa egehar 41 82

1. A, B, Conly / shddl A,B,C

2. Either B, A, Cor C, A, B / I1 af B,A,C a1 C,A,B
3.B, A, Conly / %had B,A,C

4.A,C,Bonly / &hdd A,C,B

Correct Answer :-

« Either B, A, CorC,A,B / a1 df B,A,C Iar C,A.B

6) The extract of which plant leaf is believed to increase the blood platelet count during
dengue fever? /

fra dldr & geclt & IrF F S TER F 2N o5 AT F3€ TR F AT 3UgFT
HIAT ST 82

1. Neem / #TH
2. Tulasi / Jer®ll
3. Papaya / 9dIdr

4, Palm/ d1$ AT 91H

Correct Answer :-

« Papaya/ 94Ydr

7) The Two-Kingdom classification given by Linnaeus is considered inadequate presently
because of: /

feraw garr Re v gf-sere geffamor #r adaer F e & FRoT sraAea A
ST B

1. A large number of organisms did not fall into either plants or animals only./

I g&ar & Sfg, oF & Oiel ar 7 & SRt & 3deTa 3ma §



2. Not distinguishing photosynthetic and non-photosynthetic plants (fungi) separately only./
hdel TRIEeYH 3R IR-Uehrer Axeive ditl (Fdedh) H Ag o X It
3. Not distinguishing prokaryotic and eukaryotic organisms separately only. /
Sharel SThaEY )RR ( A gHREARE ShahgHad shat (37 #ig & F o
4. All of these/ B“Q'{iﬁ_cf T

Correct Answer :-

« All of these/ 3uderc &l

8) The pollen of which of the following plants is notorious to cause severe respiratory
problems? /

i@ & O 5y ol &1 WEr egua a9t TR FATIEHT F FROT F T F ST
1T 72

1. Parthenium / 9r¥fferaT
2. Lantana / oleclell

3. Acacia / I

4. All of these / I T

Correct Answer :-

« Parthenium / 9rffaas

9) The term synergistic action of hormones refers to the situation of: /

FRAT FT FElhacaAs fFar g e & Pufa #t wafifa s &
1. When two hormones act together but bring about opposite effects. /
9 &l gRANRT Teh TTT HF I g olfehe] [AURIT IHIT o gl
2. When two hormones act together and contribute to the same function. /
SIS & gRANRT Ueh H1Y H W § AR FAW 7 7 FgAeT Hid 8l

3. When many hormones bring about any one function. /

S 5 gRAT hdl T F FI A g

4. When one hormone affects more than one function. / 31§ Ueh gRHEIT Teh & 37T 1 ganfaa
AT ¢

Correct Answer :-



« When two hormones act together and contribute to the same function. /

9 &I gRART Teh TTT ST Id g IR AT P & TEIET I gl

10) What happens when the moisture content is reduced by dehydration to prevent
microbial growth in food?/

FIT X1 & I o H geweha gig F AFa 3G AStelimor ganrr 7t i A1 FA
#r et 82

1. Only concentration of solutes in the food increases. /
ST H ohadl fdelT $r Figar sl gl
2. Concentration of solutes in the food increases and the concentration of water decreases./
HISTT # [dold &1 Wegdl deat § 3 STel I Higar Ted gl
3. Concentration of solutes decreases and concentration of water increases./
faerr &1 "igar gedr § 3R Sfer &I igdr dedr g

4. Water content remains the same. /

STel T #AET gHT Wwar g

Correct Answer :-

« Concentration of solutes in the food increases and the concentration of water decreases./

Aot & T T Aegdr Fedr § 3R ST & Figdr gedr gl

11) Emerson effect is related to the: /

sHAT YT AT ¥ wafta ¥

1. Increase in quantum yield of photosynthesis in presence of monochromatic light. /
AlAThIATEH ThTer T IUTEATT H ThI HRAWOT T FalecHl ofietl # Il

2. Decrease in quantum yield of photosynthesis when light of two different wavelengths are
provided together. /

S &7 AIT-3AT dITeed HT N2 Uk AT YSIT &l ATl &, dd TehIel TVoT Hr
FdlccHT dTeT H AT

3. Decrease in quantum yield of photosynthesis in presence of high light intensity. /
3 WenTel Jigdl & 3aTEfa & Jeprer @2Vor i FdalecH dfsy # HHAT|

4. Increase in quantum vyield of photosynthesis when light of two different wavelengths are provided
together. /



SIS GT 3TeT9T-3Te19T dAITGEY T ANAeAT Teh AT TGl FT ST &, T JhIRT HLAYUT I FalecH! dfed H
gl

Correct Answer :-

» Increase in quantum yield of photosynthesis when light of two different wavelengths are provided
together. /

SIS &T 3TEIT-3eeT AL T IAAT Uh AT YT T ATl &, A TehTel HRAUT FI FalecHl dfed H
gigl

[

12) A special feature of dividing cells is: /

faras FRFET F1 wF fFAy qaror §

1. Large intercellular spaces / §3 3cRThIRADIT TUTeT

2. Large vacuole / §31 Rigrdenr

3. Thick cell walls / #IET FIfApr fAfcaar

4. Dense cytoplasm devoid of vacuole / RfFdereld Tl Fifhiged

Correct Answer :-

« Dense cytoplasm devoid of vacuole / RIFdFREIT T FIfAhIgeT

13) Which one of the following pair of scientists proved the semi-conservative mode of DNA
replication? /

feafaf@a & ¥ fre dfast & St & Aeav afagla 6 rd-wRad T«
aifad fRar?

1. Miller and Urey / fAeR 3R X

2. Meselson and Stahl / AT 3 Tld

3. Hugo Devries and Correns / ?’q«?ﬁ IR FR=T

4. Hershey and Chase / &% 3iR 39

Correct Answer :-

« Meselson and Stahl / AGeq 3T Ferd

14) Which of the following ecological pyramid is always upright? /
farafaf@a & ¥ sla-w aRPufas Rufas g Hur gar @2
1. Both pyramid of biomass and energy / STIHNT 3R Soll gt @1 fRifas



2. Pyramid of number / §&AT & ORIAS

3. Pyramid of energy / St &7 [ORIfAS
4, Pyramid of biomass / ST T RIfAS

Correct Answer :-

« Pyramid of energy / 3ol &l TORIfAT

15) Oxidative enzymes in fresh fruits and vegetables use oxygen to: /

aat wal 3t afesat & AR taEd AT F T sitFdseT F1 39 w1
1. Keep the fruits and vegetables fresh / ®ell 3R Tfeoral &l drem I@eT %§f

2. None of these / ST & Pl sTgT

3. Metabolize / TAMIIT Fel g (ATSICATSSA)

4. Increase the nutrient content of fruits and vegetables/ Well 3R afesat $r dive aEEl @t
Sele g

Correct Answer :-

» Metabolize / TATTTT A & (ATSIATZSA)

16) Omnis cellula-e-cellula was proposed by: /

P AeE-T-AeET Y g qENT SR far T o
1. Robert Hooke / I8¢ g

2. Schleiden / 2oiSeT

3. Virchow / fa%@m3

4. Schwann / dTeT

Correct Answer :-

« Virchow / fa%@m3

17) In which stage of meiosis do chromosomes appear to have four strands? /
IrdiEfeTeeT & fre =vor F A F 9R €63 Raw aa 82

1. Pachytene / ¥Yelug CETan))

2. Diplotene / Gid qg (TSTelldleT)



3. Zygotene / SITSINCNe
4. Diakinesis / UTR3TTcishal (TS fharsad)

Correct Answer :-

« Pachytene / TYeclUs CEzap))

18) Which one of the following pair in the female gametophyte does NOT have haploid
number of chromosomes? /

A1eT aas A Arafaf@a # @ sla-ar oo orgEt A seqfora gear ¢t w@ar g?
1. Nucellus and egg / siligshrd 3R 33T
2. Nucellus and polar nucleus / STSlSaT 3T garT Feh

3. Nucellus and secondary nucleus / ST 3R aj%?hw heh
4. Nucellus and synergids / STliSeTT 3R TET HITASIT

Correct Answer :-

« Nucellus and secondary nucleus / SSiigshrT 3K E{ﬁ?—ﬂ'ﬂ'c!? hgh

19) Which of the following pair is a natural fibre? /
farafaf@a & & sla-ur goo o ypfa+ e 82

1. Rayon and jute/ 3faT 3R Sic

2. Rayon and polyester / ¥l 3R Glfelteel

3. Jute and silk / SIC 3R Rew

4. Silk and polyester / e 3R TifelvEex

Correct Answer :-

- Jute and silk / S 3R e

20) CANCELLED

A primitive sort of sexual reproduction seen in bacteria is termed as .
R # @ I T F IFR F ANF yeAT F T 1T ¢l
1. Transduction / 9RhHIT

2. Transformation / ®9Te-c{0T

3. Conjugation / H'ﬂ??:l'ﬂ



4. All of these / 3 gafr

Correct Answer :-
 Conjugation / Q:I'HQ?FH

21) CANCELLED
Which of the following statements is INCORRECT about photorespiration? /
fArafaf@d & @ Sla-a1 U ywrehT equa Fax H 2

1. Photorespiration occurs in Cy plants. / hreliT 2adH C; gierr & g g

2. The first compound formed during C,4 pathway is oxalo acetic acid. /

C, T¥ & aReT fAfAa ugem Al sifeadr-viafes s &l
3. C5 plants have Kranz anatomy. / C3 gl F FleaT TARTAT glaY &1
4. C4 plants lack photorespiration. / C4 Gitit & wehreflr 23T &1 T 8Ic g

Correct Answer :-

+ Cj plants have Kranz anatomy. / C3 et J FleaT TATCTH ?I?ﬁ %’I

22) A DNA has 4000 base pairs. How many turns or helices will be there in that DNA? /
T% SITAT H 4000 &TRF oA §| 37 fvav # fraar gara a1 Fsfas (@faww) ez

1. 400

2. 200

3.20

4. 40

Correct Answer :-

e 400

23) Which of the following is NOT a function of mesosome? /
farafaf@a & & sla-ar Raaw &1 F3 a8 82

1. Cell wall formation / ifRrepr fAfca r AATor

2. DNA replication / SITIT ‘;Iﬁ-lfﬁ

3. Secretion / HId



4. Protein synthesis / 9Ciel HLYOT

Correct Answer :-

« Protein synthesis / IEleT HLATOT

24) Which among the following organelles is seen in close association with ER? /
frafaf@a # @ sia-a1 3791 ER & @19 e gaer # 3@ amar §2

1. Peroxisome / IR3iTereenT

2. Vacuole / 3@ (RfeFdenT)

3. Golgi body / fesll HT

4. None of these / 18 & PIg Tal

Correct Answer :-

« Golgi body / ITesT &I

25) The ovule which has the micropyle and chalaza at the opposite ends is: /
dieis et Redia Rt o1 disisgan (Frgwmee) X dastes] () o &
1. Amphitropous ovule / 31I9EY (WFhgud) diefis

2. None of these / 378 & HIs gl

3. Anatropous ovule / 9T (TATCIOH) SToTs

4. Campylotropous ovule / HFUSAIRITH dels

Correct Answer :-

. Anatropous ovule / T (TATSTH) oS

26) Enzymes are biocatalysts and they catalyse biochemical reactions. Which of the following
reactions is NOT catalysed by an enzyme? /

TATEH AF-30F & 3 T ST e gttt & safa w4 § fefef@a & @ sia-d@ afafear
T USATSH gaRT SR 71 gl 82

1. Unwinding of two strands of DNA/ 3IUTT & &I T8 I TASTSISdT

2. Dissolution of CO, in water / 9Tl # CO, T fagesT

3. Formation of peptide bond / UTeT88 €Y Hl ITSeT
4. Hydrolysis of sucrose / gshisT & gTSgIToIiad

Correct Answer :-



« Formation of peptide bond / UTCTISE 3TEET T ITSeT

27) Human beings are responsible for the depletion of ozone layer. Which one of the following
substances is NOT responsible for the depletion of ozone layer? /

AT R F1 477 & AT AT AR 1 39T R & g9 F v Amafaf@d & @ sia-ar gerd
fSFer gt 82

1. Carbon tetrachloride / &TeeT ¢l FARISS
2. Ammonia / 3T

3. Chlorofluorocarbons / FIRT FART hlee]
4. Aerosols / Tr&TeT

Correct Answer :-

« Ammonia/ AT

28) The strand of DNA which does NOT code for anything is referred to as ./

AT HET A FN N AT F RTFsaf Far g, 3@ & T & "efia frar srar g1

1. Intron and extron / 3s7eisl 3R TFHCIA
2. Template strand / SFIeIlC T3

3. Non-coding strand / #ieI-HIT3IT T8

4. Coding strand / SIS T8

Correct Answer :-

« Coding strand / HifseT &3

29) Ribosomes are of 70S and 80S types seen in a cell. Which of the following statement is
CORRECT regarding 'S’? /

TSEEH TF HIART A @ AT arer 70S 31K 80S IR & gid &1 Ae=rfaf@a #  Fla-u1'S’ & gag i
T R?

1. °S’ stands for sedimentation coefficient unit only. / ‘S’ dhadl FadrGe 3IUTI$ Eﬁﬂé HT Jciich
gl

2. It is a measure of size only. / Ig Fdd 3SR & Teh AT gl
3. It is a measure of the density only. / Tg shddl Hslcd T HT gl

4. All of these / 3uderc Hafr

Correct Answer :-



o All of these / B“Cl'{ﬁﬁ_cf g

30) In alternation of generation in plants, a sporophyte alternates with a gametophyte or vice-
versa. Which of the following statements is INCORRECT for a sporophyte? /

dtet F i F Rerew #, v ooy 337 JriRiwEe (ragraaiie) dieese (ar sud feda & @y
e ghar ¢ IR faf@a & & Fla-ar fieny 3fe yriwse (F Reraa 82

1. Sporophyte is dominant in Pinus. / 98eT& En\—:lTUI 3f8e )TURIBIEe (THTEr 8T B

2. Sporophyte is always diploid. / aﬁawg 3¢ JEIRIBIST (BAHMT E!(ﬁ'{l;ﬁ?f grar gl

3. It is always independent and photosynthetic. / Tg R TadF 3R TS BT gl
4, It produces spores. /Ig EﬁGlTUI 3ol HLAT &

Correct Answer :-

. Itis always independent and photosynthetic. / Jg §HAT TAAT IR THRIIHLATH &Il gl

Topic:- Zoology

1) A few toxic pollutants in water undergoes biomagnifications, which means:/

5o # Fo fader yque Sta-matie & g1 e §, e g &

1. Increase in concentration of the pollutants as they cannot be recycled /
ST 7 TG 3 R, iR & GoT: et 8 Y T T ¥

2. Increase in concentration of the pollutants as they are not biodegradable /
TGNl Y Higdl H gig Fifeh I Siafaeiiaor =gl &

3. Increase in concentration of the pollutants at successive trophic levels /
AR GISUT FRT (ST ek oldel) I TGNehi 3l Higell & gig

4. Increase in concentration of the pollutants over time /
HHI & WY Ge¥en! T Aigdl # g

Correct Answer :-

« Increase in concentration of the pollutants at successive trophic levels /

ST 91O T (STTheh dlarel) TR STg¥ent T Aigdr 7 gfg

2) The number of bones in axial skeleton is: /

e Farer # gsfEat fraear @:



1. 40
2.20
3.80
4. 60

Correct Answer :-

« 80

3) The first clinical gene therapy was given in 1990 to a girl with SCID disorder, which is
caused due to the deletion of the gene for .

R Agifas (@elfawe) s A3d 1990 F SCID RAFR areh v asfr Fr & 7 oY, st
& ST FY gt & FROT et B

1. Glutamate dehydrogenase / doj\CIJ:IC IEREEEEE
2. Monamine oxidase / ATAHST TS

3. Tyrosine oxidase / TTIRIAT HTFEIST
4, Adenosine deaminase / TS sAARTT

Correct Answer :-

« Adenosine deaminase / TSI« sfAafA=T

4) The embryo with 8 to 16 blastomeres is: /

8 ¥ 16 FNFES (TATHCIAAI) Wige 3T BT 8
1. Blastula / selT¥gell

2. Polar body / %ﬁ'{l’ CaR2)

3. Morula / AIFIT

4. Trophoblast / ST

Correct Answer :-

« Morula / AIFT

5) The process of evolution of different species in a given geographical area starting from a
point and diverging to other habitats is called J

forelt e o sitenfore & & Raffesr wenfaal & e A1 uftvar &t v Rig @ gt 3k
3= TITET A g T FET AT &1



1. Divergent evolution / 319N fashTd

2. Convergent evolution / 3TTHERY fasra
3. Genetic drift / 3-11?-_13'1:%\]? f{lj%f

4. Adaptive radiation / 3-1?:IDT=I;\»_<>ﬁ' faferzoT

Correct Answer :-

« Adaptive radiation / W IGIET

6) The extra embryonic membrane in humans that protects and prevents desiccation of the
embryo in the uterus is:/

oS4t A srfarfara sqor Freelt St arsifersr 3 squr 7 et ¥ T Sitv e F ¥
1. Allantois / 3TORTAI TSR

2. Chorion / SRTY (Wﬁﬁa'sfcf)

3. Yolk Sac / Ifer Jeh (STEF et

4. Amnion / 3od

Correct Answer :-

e Amnion / 3¢d

7) The letter ‘T’ in T lymphocytes refer to: /

T i) (FRFwraTsed) # T aR AT # Jaffia Feard:
1. Thymus/ JQisHAH

2. Thrombin/ TP

3. Thrombocytes / AFSTATSC
4. Tetanus/ feecag

Correct Answer :-

o Thymus/ dTsHT

8) The water vascular system is a unique characteristic possessed by which Phylum? /
STeT Hagel! YOTTel! U 3773 fadrwar & it 59 ¥ & 91$ el 82
1. Coelenterata / Hlelee el



2. Porifera / ARWRT
3. Echinodermata / %(\I(‘»lﬂﬁi msmg«—rﬂgﬁa

4. Hemichordata / gHTehIser

Correct Answer :-

« Echinodermata / QeTaIHT IT SehISailsHer

9) Name the parasitic worm that causes a slowly developing chronic inflammation of the
organs in which they live for many years, usually the lymphatic vessels of the lower limbs./

3 WRia F A T AT FaA5T St 390t 7 - R T g arelt gt Feter 1 FRoT Fotar
% 9T I %S aut a, 3madk ) AT 3 & ol arfgsrt & w|a 8

1. Taenia solium / dfa=r giferas

2. Ancylostoma / Tl FTITNCHT

3. Ascaris lumbricoides / TEHRT Wﬂﬂ?@?
4. Wuchereria malayi / gﬂ?ﬁzﬂ' Hells

Correct Answer :-

o Wuchereria malayi / gﬁ?ﬁw Hells

10) Biological names are given in language. /
S A T 7 o e B

1. Sanskrit / WF(I;T—T

2. Greek / Il

3. English / 37315t

4. Latin / offeeT

Correct Answer :-

o Latin/dfest

11) Chondrocytes are found in: /
IR HIRAHTT # 91§ et
1. Blood / Tohdd

2. Epithelial tissue/ 39shell Sdsh



3. Nervous tissue/ dfAenT Fclh
4. Cartilage / 39T

Correct Answer :-

. Cartilage / 3UTRY

12) Which of the following is an autoimmune disease? /
frafaf@a # ¥ sla-8 & FaafR@a a2

1. Sickle cell anaemia / el Aot TAITAAT

2. Cretinism / 3Td¢arHIdl

3. Rheumatic fever / aTd 3ax (FAH e Hrav)

4. Malaria / FARAT

Correct Answer :-

« Rheumatic fever / aTd saX (FHTeHh HIar)

13) Which of the following is a microelement? /
fPrafaf@a § d Fla ve grAaa

1. Copper/ dTsT

2. Potassium/ GTcTRI7eT

3. Calcium/ e

4. Magnesium/ I T

Correct Answer :-

« Copper/ dT&T

14) Which of the following does NOT have a serous lining outside? /
frrafaf@a # & frwe aedt dw el a1 e e adi e 82
1. Large intestine / 3T 31T

2. Small intestine / BIET 37T

3. Oesophagus / I sTeil

4. Stomach / JTHTT



Correct Answer :-

« Oesophagus / ITH sTell

15) Melatonin hormone is released by gland. /
AaRiAa gl I FgarramRa gar d

1. Pituitary / 9% (Freged)

2. Thyroid / YTIRTSS

3. Pineal / ffaiger

4. Adrenal / 3ifIgereh (Vg=Tel)

Correct Answer :-

o Pineal / e

16) Power of accommodation of the eye is achieved due to: /
I Y AHSAT &THT foeT & FROT qYd gt &:

1. Ciliary muscles / G&ATIRT Tt I1 FAT3RT ArEafaay

2. Cornea / HifeiaT

3. Conjunctiva / s T[T SHAIT

4. Choroid layer / T&des ITd

Correct Answer :-

o Ciliary muscles / G&ATIdRT Uit I1 FAT3re ATTafat

17) Inflammation of joints due to accumulation of uricacid causes _____ ./
INF RS F T FFROU AT A YAT T FROT Fetelt B

1. Arthritis / I1fSar a1 e aver 3mRTsfew)

2. Osteoporosis / aﬁmgﬁw a7 3fcaaRIfad

3. Gout / aTd 9T (AM3C)

4. Tetany / 3T9dTfeIehT (STaiT)

Correct Answer :-

« Gout / dTd 3T (IAMFC)



18) Ptyalin in saliva is inactivated by: /
v & ganr AR & e AfSFT B smar &t
1. Mucus / SeTdTH T hth

2. Bile / e

3. Rennin / ¥feAeT

4. HCl/ TIETe

Correct Answer :-

« HCl/Tg8Hiud

19) Ramu was observing the slide of muscle tissue. The character he observed were
striation and multinucleated. What type of muscle did he observe?

| T, 9 A Y FoTSES HY AR FT T UT| 3HA S &7 @1 g AT AR sgdhafea anl s
e g Y et 1 Qaror fRaT?

1. Skeletal muscle/ shepTer Uit
2. Cardiac muscle / E&J T Ueft
3. Smooth muscle/ TRl i
4, Ligaments / WI'?EIDHUH

Correct Answer :-

« Skeletal muscle/ shepTel T2

20) The filtration slits are formed in the Bowman'’s capsule by: /
foredes Rerew e & garr A woqe 7 ao1d &
1. Henle loop / goTol TTer (BaTel od)

2. Glomerular blood vessel / TNHATR Iad EIT%'EFI'

3. Podocytes / 9GTIo] CIELIEX3)
4, Nerve endings / df3er fawrat

Correct Answer :-

« Podocytes / 9&T0T (NSTHTSEH)

21) Which of the following statements is CORRECT regarding ageing? /



frfaf@a # ¥ sia-a1 Fy= 99fg (oo FaR A 7T {2
1. Increase in Ca content of arteries and cartilage / oI 31X 3UTTEY & Ca AT H E[@'
2. Decrease in creatine / fopufesT & war

3. Cholesterol increases / ToTEC ol SadT |
4. Sugar in blood increases / I 3 R TGl ¢ |

Correct Answer :-

« Increase in Ca content of arteries and cartilage / €T T 3R 3UTTEY & Ca AT H aﬁ{

22) Down’s syndrome is caused due to: /

3131 RS A7 & FROT AT &

1. Trisomy of 13 chromosome / 13 Wﬁ@m
2. Trisomy of 18 chromosome / 18 TTH\QT@ AESSIEE |
3. Trisomy of 16 chromosome / 16 W@ [AESIIER |
4. Trisomy of 21 chromosome / 21 JORGAT T ESEHT

Correct Answer :-

» Trisomy of 21 chromosome / 21 JOTYAT T ETSEHT

23) Which of the following creatures is called the first human like being (hominid)? /

fArafaf@a & @ fra aroft 1 A1eT skar ggar gl (§ifafas) Fer smarg?
1. Neanderthal man / T/USTeT HeT

2. Homo habilis / g1 §faferd

3. Homo sapiens/ 817 S0

4. Homo erctus/ 17 SRFEHT

Correct Answer :-

o Homo habilis / g??#é’?%ﬁw

24) Which of the following is an example of sesamoid bone? /
frrafaf@a F @ sl Fsufey (aqfas 3fPy) #1 v+ emere?
1. Ear lobe / &l UTfel (33X i)

2. Knee cap / =i T



3. Intervertebral disc / 3TARTHATH 0T (Sclacs ol [3Eh)

4, Vertebrae | FHATHIT

Correct Answer :-

» Knee cap / g

25) Which of the following features of cartilaginous fishes is absent in bony fishes?/

Rrafaf@a # @ suRtyeR Asfoat (Fféafsea frr) i wla-3 Rdvar gsder asfaar (@) fkr)
# srequfeud Al 82

1. Viviparous / SRTg T

2. Gills/ ITeThs

3. Stream lined body / m W
4. Poikilothermic / TawaATdY

Correct Answer :-

« Viviparous / SRTJsT

26) An important feature of cloning vector, responsible for controlling the copy number of linked
DNA is J

Fellferar dFeT AT v Hgcaqor faerwar gt ¢ St 7 I fes freae i gfafafy s # fafia
F & T seavart §1

1. ‘ori’ / ‘31X

2. cloning site/ FellfaieT ATSC

3. promoter / JHIEI

4. selectable marker / TIT T AT AT (TolFeao HHI)

Correct Answer :-

e ‘ori’/ ‘3R

27) The characteristic demographic features of the developed countries are:/
RefAa gt ff R saaifEadT f{vam §:

1. High fertility rate, high per capita income, better living standards/

3T Joleldl &Y, 3¢9 UTd cdiad 3T, dgaX silde] TaX

2. High mortality rate, rapid population growth, very young age distribution/



3T g e, dsil & SIeTaedn gig, gl A 33 T AT

3. Low fertility rate, high per capita income, better living standards /

HH YTl &X, 3T YT T fFd 3T, 9§} Sitde] EX
4. High fertility, rapid fa lling mortality rate, rapid population growth /
3T Yolelet &7, doft & IR Fcg e, as & Seraean gig
Correct Answer :-

« Low fertility rate, high per capita income, better living standards /

A Tololel &3, 3T Ufd eTTFd 1, SgX Siide FR

28) The part of human foetus that represents the primitive gut is:/
HTTT 0T F1 ¢ fowwn At anfea s (AR a1e) #71 wfafafes wwar &:
1. Blastocoel / SITECIhIeT

2. Archenteron / 3-1'IT:'.?II'I'=T (3-]'%77{)

3. Gastrocoel / I ECThTel

4, Blastopore / PR$Y (STEeIuR)

Correct Answer :-

 Archenteron / 3-1'IE'.?3I'I'>T (3TTTEReTaT)

29) The science that deals with various aspects of ageing is called ./
37 9ga & RAffesT ggepit & wafta R A FgT ST &1

1. Gerontology / SRi=erelisir
2. Paleontology / teletdalisit

3. Ecology / SaTelisil
4. Physiology / fsfaraTalisit

Correct Answer :-

« Gerontology / SRI=erelisi

30) The drugs that are known for their effect on the cardiovascular system in the body are:/

T A TSI YOITel! 9T 37 THTT & o Frel) Sier arelt sitwferT &
1. Opioids / 3NTAASH



2. Amphetamines / TFhe fHeT

3. Cannabinoids / FATTIASS
4. Barbiturates / EI'@?BE:H

Correct Answer :-

« Cannabinoids / heATAISS

Topic:- General English

1) Choose the appropriate prepositions for the given sentence:

Hedied __ heartfailure___ Tuesday night.
1. to, at

2. to, by

3. from, on

4, for, in

Correct Answer :-

2) Choose the correct word for the given sentence:

If you go walking around the factory, ensure you wear ____ clothing.
1. protecting

2. protective

3. protectly

4. protected

Correct Answer :-

« protective

3) Choose the option that best transforms the given sentence into its active voice:

What is wanted by Ram?

1. Is something wanted by Ram?

2. What Ram wanted something?



3. What does Ram want?
4. What wants do Ram has?

Correct Answer :-

« What does Ram want?

4) What is the opposite meaning of REPROVE?
1. Admonish

2. Compliment

3. Observe

4. Chide

Correct Answer :-

« Compliment

5) Choose the appropriate articles for the given sentence :

All __ employees felt that _ new office premises was more spacious than previous
office space.

1. the, a, a
2. the, the, an
3. the, a, an

4. the, the, the

Correct Answer :-
« the, the, the

6) Choose the appropriate articles for the given sentence:

Keeping  petcanincrease  person's emotional well-being.
1.a,an

2. the, a

3. an, the

4. a,a



Correct Answer :-

7) Choose the appropriate determiners for the given sentence:

Do you have __ flour to bake a cake or should I go and get  from the market?
1. enough, some

2. enough, few

3. some, some

4. any, some

Correct Answer :-

« enough, some

8) Choose the appropriate determiners for the given sentence:

I was at a party with of my friends where the music was good and the dishes were
appetizing and so the guests did not have to eat.

1. most, all, few
2. some, all, enough
3. all, all, some

4. few, much, enough

Correct Answer :-

« some, all, enough

9) Choose the appropriate prepositions for the given sentence:

What taking the day and spending it by the seaside?
1. by, off
2. about, off

3.1in, of



4. on, off

Correct Answer :-

« about, off

10) Choose the option that best transforms the given sentence into its passive form:
The enemy country was not following the path of peace.

1. The path of peace had been followed by the enemy country.

2. The path of peace was not being followed.

3. The path of peace was not being followed by the enemy country.

4. Path of peace is not being followed by the enemy country.

Correct Answer :-

« The path of peace was not being followed by the enemy country.

11) Choose the option that best transforms the given sentence into its positive degree:
Forgiveness is the noblest form of revenge.

1. Few forms of revenge are as noble as forgiveness.

2. No other form of revenge is as noble as forgiveness.

3. All forms of revenge are not so nobler than forgiveness.

4. Of all forms of revenge, forgiveness is nobler.

Correct Answer :-

« No other form of revenge is as noble as forgiveness.

12) Choose the idiom that best fits into the given sentence:
My friend’s a straight forward man who believes in

1. loving his enemy

2. drives the last nail into the coffin

3. calling a spade a spade

4. fighting tooth and nail

Correct Answer :-

« calling a spade a spade



13) Choose the suffix that best fits in the given the sentence:
That medical treat___ really helped my skin problem.

1. -ment

2.-ed

3. -ables

4. -ing

Correct Answer :-

e -ment

14) Choose the correct form of tense to complete the sentence:

Don’t take away her toy, she
1. has cried

2. is crying

3. had cried

4. is about to cry

Correct Answer :-

« is about to cry

15) Choose the correct form of modal auxiliary verb for the given sentence:

If it's snowing, it very cold.
1. must have

2. must be

3. should had

4. should have been

Correct Answer :-

e must be



16) Choose the correct form of modal auxiliary verb for the given sentence:

I___ have gone town if my flight was not cancelled.
1. must

2. might

3. may

4. can

Correct Answer :-

« might

17) Choose the correct form of phrasal verb for the given sentence:

the expression on his face, I would say he wasn't very pleased.
1. seeing as
2. going by
3. Judging by

4. as for

Correct Answer :-

 Judging by

18) Out of the following options, identify the sentence with a grammatical error.
1. I could not visit Agra Fort last weekend.

2. I visited Agra Fort last weekend.

3. My visit to Agra Fort last weekend was great fun.

4. I am visited Agra Fort last weekend.

Correct Answer :-

o I am visited Agra Fort last weekend.

19) Out of the following options, identify the sentence with a spelling error.



1. Smanatha took a long swig of the beer jar and inhaled hard.

2. He cannot run hard enough, as he is getting old and feeble.

3. He seemed totally absent mentally and looked vacantly out of the window.

4. He inadverantly opened the swing door too hard and hit the woman on the other side.

Correct Answer :-

« He inadverantly opened the swing door too hard and hit the woman on the other side.
20) Which of the following is a simple sentence?

1. The stolen artifacts have been recovered.

2. What’s the use of crying when the cat has drunk all the milk?

3. We are glad that the police have done a good job.

4. If you jump the queue, I think that’s not done.

Correct Answer :-

o The stolen artifacts have been recovered.

21) Choose the appropriate prepositions for the given sentence:

He's always __ a bad temper ___ breakfast time.
1. to, at
2.to, in
3.0n, in
4.in, at

Correct Answer :-

22) Choose the correct form of verb for the given sentence:

Researchers that people who more of the left side of their brain tend to be more
intelligent.

1. believe ... use

2. contradict ... preserve



3. argue ... consume

4. advocate ... expend

Correct Answer :-

e believe ... use

23) Choose the correct form of verb that is in agreement with the subject for
the given sentence:

either of the two candidates who had come for the interview been selected?
1. Have
2. 1Is
3. Are

4, Has

Correct Answer :-

« Has

24) Choose the correct form of verb that is in agreement with the subject for
the given sentence:

in the corridor is very old.
1. The furniture
2. The furnitures
3. An furnitures

4. A furniture

Correct Answer :-

o The furniture

25) Read the passage carefully and answer the question given below:

The sweet whiff of first rain drops on the dry land filled her nostrils thrilling her onto the
onslaught of monsoons. Rain is the greatest saviour of the dry lands of Rajasthan. The area
which witnessed the valour of Rajputs in Medieval times is one of the most colourful lands of
India, however though extremely rich in culture the land suffers from some of the great oddities.
Gender disparity, honour killings and female infanticides are some of the disreputable issues
which taint the political and social frameworks of the state. These issues plague and tarnish the
image of a land so culturally rich. She was one of the members of an NGO who had taken up
cudgels to voice her angst against gender bias and inequality of the feminine gender. She really



felt astonished over the downslide of position of the fairer sex in an area, which had produced
the likes of Meera and several mentionable queens.

Which of the following issues is NOT mentioned in the given passage?

1. Sati

2. Honour Killings

3. Gender Disparity
4. Female Infanticide

Correct Answer :-

« Sati

26) Choose the correct form of phrasal verb for the given sentence:
your hand if you want to answer the question.

1. Keep up

2. Put out

3. keep out

4. Put up

Correct Answer :-

27) Choose the option that best transforms the given sentence into its superlative degree:

James is intelligent boy in the class.

1. No other boy in the class is as intelligent as James.

2. James is more intelligent than any other boy in the class.
3. James is not as intelligent boy in the class.

4, James is the most intelligent boy in the class.

Correct Answer :-

« James is the most intelligent boy in the class.

28) Read the passage carefully and answer the question given below:

The sweet whiff of first rain drops on the dry land filled her nostrils thrilling her onto the
onslaught of monsoons. Rain is the greatest saviour of the dry lands of Rajasthan. The area
which witnessed the valour of Rajputs in Medieval times is one of the most colourful lands of



India, however though extremely rich in culture the land suffers from some of the great oddities.
Gender disparity, honour killings and female infanticides are some of the disreputable issues
which taint the political and social frameworks of the state. These issues plague and tarnish the
image of a land so culturally rich. She was one of the members of an NGO who had taken up
cudgels to voice her angst against gender bias and inequality of the feminine gender. She really
felt astonished over the downslide of position of the fairer sex in an area, which had produced
the likes of Meera and several mentionable queens.

What is the opposite of the word ‘Valour'?

1. Kindness
2. Cleverness
3. Cowardice

4. Bravery

Correct Answer :-

o Cowardice

29) Read the passage carefully and answer the question given below:

The sweet whiff of first rain drops on the dry land filled her nostrils thrilling her onto the
onslaught of monsoons. Rain is the greatest saviour of the dry lands of Rajasthan. The area
which witnessed the valour of Rajputs in Medieval times is one of the most colourful lands of
India, however though extremely rich in culture the land suffers from some of the great oddities.
Gender disparity, honour killings and female infanticides are some of the disreputable issues
which taint the political and social frameworks of the state. These issues plague and tarnish the
image of a land so culturally rich. She was one of the members of an NGO who had taken up
cudgels to voice her angst against gender bias and inequality of the feminine gender. She really
felt astonished over the downslide of position of the fairer sex in an area, which had produced
the likes of Meera and several mentionable queens.

According to the passage, which gender’s position is being debated?

1. Neutral
2. Male
3. Transgender

4. Female

Correct Answer :-

o Female

30) Read the passage carefully and answer the question given below:

The sweet whiff of first rain drops on the dry land filled her nostrils thrilling her onto the
onslaught of monsoons. Rain is the greatest saviour of the dry lands of Rajasthan. The area
which witnessed the valour of Rajputs in Medieval times is one of the most colourful lands of
India, however though extremely rich in culture the land suffers from some of the great oddities.
Gender disparity, Honour killings and female infanticides are some of the disreputable issues



which taint the political and social frameworks of the state. These issues plague and tarnish the
image of a land so culturally rich. She was one of the members of an NGO who had taken up
cudgels to voice her angst against gender bias and inequality of the feminine gender. She really
felt astonished over the downslide of position of the fairer sex in an area, which had produced
the likes of Meera and several mentionable queens.

What is the meaning of the word ‘Tarnish’ in the given passage?
1. Say something that damages someone's reputation or image

2. Say something that smears someone's reputation

3. Say something that protects someone's reputation

4. Say something that improves someone's reputation

Correct Answer :-

« Say something that damages someone's reputation or image



